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Problem 1 Variance and Inbreeding

In the year 1900 a group of Scottish farmers landed with their sheep in Australia.
The farmers took a total of 2000 sheeps from Scotland to Australia. Once the
farmers arrived in Australia, they separated in 4 subgroups of equal sizes. Each
of the subgroups went to a different state of Australia (Western Australia, North
Australia, New South Wales and South Australia). In the year 2020 Australian
sheep farmers want to export some of their breeding animals. For this problem
you can work with the following assumptions

e There was no exchange of animals between the sub-populations after the
split into subgroups.

e The ratio between the number of female animals and the number of male
animals is 3.

e The size of the sub-populations N which is relevant for the computation
of the inbreeding coefficient is set to the number of female animals in each
sub-population.

o The generation interval can assumed to be 2 years.

Im Jahr 1900 wanderte eine Gruppe von Schottischen Farmern mit ihren
Schafen nach Australien aus. Die Farmer brachten 2000 Schafe nach Aus-
tralien. Als die Farmer in Australien ankamen teilten sie sich in 4 gleich
grosse Gruppen auf. Jede Gruppe ging in einen anderen Staat in Australien
(Western Australia, North Australia, New South Wales and South Australia).
Im Jahr 2020 méchien die Farmer einige ihrer Zuchttiere exportieren. Fir
diese Aufgabe konnen Sie die folgenden Annahmen treffen.

e Nach der Aufteilung der Tiere in die Gruppen kam es zu keinem Tieraus-
tausch zwischen den Gruppen.

e Das Verhdltnis zwischen der Anzahl weiblicher Tiere und der Anzahl
mannlicher Tiere betragt 3.

e Die Popultationsgrésse N, welche fiir die Berechnung des Inzuchtkoef-
fizienten wichtig ist, kann mit der Anzahl weiblichen Tiere in jeder Sub-
population gleichgesetzt werden.

e Das Generationeninterval betrage 2 Jahre.



Base Population (Scottland)

2N 2N 2N 2N
N N N N
2N 2N 2N 2N
N N N N
Western North New South South
Australia Australia Wales Australia

N: Number of female animals

a) Compute the inbreeding coefficient F} for the breeding animals that the
farmers want to sell.

Berechnen Sie den Inzuchtkoeffizienten Fy fir die Zuchttiere, welche die
Farmer verkaufen mochten.

Solution:



b) The sheep farmers are concerned that inbreeding in their population does
not increase too much. In which year is the inbreeding coefficient F; going
to be bigger than 0.17

Die Farmer méchten den Inzuchtgrad nicht zu stark ansteigen lassen. In
welchem Jahr wird der Inzuchtgrad Fy grosser sein als 0.19

Solution:



¢) One reason to control the inbreeding coefficient is that breeders want to
avoid inbreeding depression. We assume that locus W is mainly respon-
sible for wool fibre diameter (FD). The favorable allele W7 occurs with
a frequency of p = 0.045. The difference between the homozygous geno-
types W1W; and WolWs in fiber diameter is 100 micrometer (um). The
genotypic value of the heterozygous genotype W1Ws is 15. Compute the
inbreeding depression at locus W, if the inbreeding coefficient has reached
the limiting value of Problem 1b of 0.1.

Ziichter wollen die Inzucht begrenzen, da sie Inzuchtdepressionen vermei-
den wollen. Wir nehmen an, dass das Merkmal Wollfaserdurchmesser
hauptsdchlich von einem Genort W beeinflusst wird. Das vorteilhafte Allel
W1 kommt mit einer Haufigkeit von p = 0.045 vor. Die Differenz zwischen
den homozygoten Genotypen W1iW1 und WoWsy im Merkmal Wollfaser-
durchmesser betragt 100 Mikrometer (um). Der genotypische Wert der
Heterozygoten W1 Wy betrigt 15. Berechnen Sie die Inzuchtdepression am
Genort W unter der Annahme, dass der Inzuchtkoeffizient den Grenzwert
aus Aufgabe 1b von 0.1 erreicht hat.

Solution:



d) Inbreeding has an influence on the genetic additive variance, as it is split
into a between line and a within line component. Please, fill out the
following table with the different genetic variance components for the locus
W from Problem 1c. We assume a value of 0.1 for the inbreeding coefficient
F.

Inzucht hat einen Finfluss auf die additive genetische Varianz, da diese
Varianz durch die Inzucht in eine Komponente innerhalb Linie und eine
Komponente zwischen Linien aufgeteilt wird. Bitte fillen Sie die folgende
Tabelle mit den unterschiedlichen Varianzkomponenten am Genort W aus
Aufgabe 1c aus. Als Inzuchtkoeffizienten F' nehmen wir einen Wert von
0.1 an.
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Source Variance

Between lines
Within lines
Total additive
Dominance
Total genetic

Solution:



Problem 2 Numerator Relationship Matrix

On a beef cattle farm the female calf named Uma was born on the 27¢ of
December 2019. Given below is the pedigree for the calf in a graphical format.

Auf einem Mutterkuhbetrieb wurde am 2. Dezember 2019 das Kuhkalb Uma ge-
boren. Nachfolgend ist der Stammbaum des Tieres in graphischer Form gegeben.

=
/.




a) Construct the numerator relationship matrix A for the given pedigree.

Stellen Sie die additiv genetische Verwandtschaftsmatriz A auf fir das
gegebene Pedigree

28

Solution:



b) Which of the animals of the above given pedigree are inbred. Please fill
out the following table.

Welche der im obigen Stammbaum aufgefiihrten Tiere sind ingeziichtet.
Bitte vervollstindigen Sie die folgende Tabelle.

14
Animal Inbred (yes/no) Inbreeding Coefficient
1
2
3
4
5
6
7
Solution:



¢) The owner of Uma started already the plans with which bull Uma should
be mated to. The following two bulls are potential mates for Uma.

Der Besitzer von Uma plant schon mit welchem Bull er sie verpaaren
mochte. Die folgenden beiden Bullen stehen zur Auswahl.

1. Follower which is a son of Feedback.
2. Stan which is not related to any of the animals in the pedigree

1. Follower, der ein Sohn von Feedback ist.
2. Stan der nicht verwandt ist mit den Tieren im gezeigten Stammbaum.

Which bull do you recommend when the offspring of Uma should have minimal
inbreeding. Compute the inbreeding coeflicients for an offspring of Follower and
Uma and an offspring of Stan and Uma.

Welcher Bulle empfehlen Sie, wenn der Nachkommen von Uma einen maoglichst
kleinen Inzuchtgrad aufweisen soll? Berechnen Sie die Inzuchtkoeffizienten des
Nachkommen von Follower und Uma und des Nachkommen von Stan und Fol-
lower.

Solution:
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Problem 3 Genomic Selection
The following table contains the genotyping results for 6 animals.

Die folgende Tabelle enthdlt die Genotypisierungsresultat fir 6 Tiere.

Animal SNP 1 SNP 2 SNP 3 Observation

1 0 0 0 70
2 1 0 -1 87
3 0 -1 0 24
4 0 0 -1 35
5 0 1 -1 58
6 0 -1 0 50

a) Use a marker effect model to estimate the effects of the SNP-Genotypes
on the observations. With only three SNP markers, you can fit the SNP
markers as fixed effects which corresponds to a linear fixed effects model.
Setup all the model components, including the expected values and the
variances of the random effects and insert all information from the dataset
into the model. The solutions for the estimates of the intercept and the
marker effects can either be computed using the least squares formula or
the function ‘lm()*

Verwenden Sie ein Markereffektmodell um den Finfluss der Markergeno-
typen auf die Beobachtungen zu schitzen. Mit nur drei SNP-Markern
kénnen Sie die SNPs als fize Effekte modellieren und so ein fizes lineares
Modell verwenden. Stellen Sie alle Modellkomponenten auf, inklusive der
Erwartungswerte und der Varianzen der zufdilligen Effekte und setzen sie
alle Informationen aus dem Datensatz ins Modell ein. Die Losungen fiir
die Schatzwerte des Achsenabschnitts und der Markereffekte konnen en-
tweder mit der Formel der kleinsten Quadrate oder mit der Funktion Tm()*
berechnet werden.
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Solution:
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b) Compute predicted genomic breeding values using the marker effects that

resulted from Problem 3a. The minor allele frequencies of the favorable
allele for all SNP-markers are given in the table below. All marker loci are
assumed to have only additive effects on the observed traits. Hence the
genotypic values of the heterozygous genotypes are in the middle between
the genotypic values of the homozygous genotypes which means that the
d-values are 0 for all SNP-markers.

Berechnen Sie die geschdtzten genomischen Zuchtwerte aufgrund der unter
Aufgabe 3a erhaltenen Markereffekte. Die Allelfrequenzen des positiven
Alleles der SNP-Marker ist in der nachfolgenden Tabelle gegeben. Alle
Marker-Loci haben einen rein additiven Effekt auf die beobachteten Merk-
male. Deshalb liegen die genotypischen Werte der heterozygoten Geno-
typen genau zwischen den genotypischem Werten der Homozygoten. Das
bedeutet, dass die d-Werte gleich O sind fir alle SNP-Marker.

SNP-Locus Minor Allele Frequency

SNP 1 0.045
SNP 2 0.100
SNP 3 0.120

Hint:

If you did not solve Problem 3a, you can use the following numbers as
marker effects.

Falls Sie Aufgabe 3a nicht gelost haben, konnen Sie die folgenden Werte
als Markereffekte verwenden.

SNP-Locus Marker Effect

SNP 1 21.1
SNP 2 9.9
SNP 3 5.5
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Solution:
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c¢) Use a breeding value model to predict genomic breeding values based on
the genomic data given above. As the only fixed effect, a common mean
1 is included in the model. The genomic relationship matrix G based on
the SNP-markers is given below. The ratio (\) between residual variance
02 and the genetic variance O'g is set to A = 4. Specify all the model
components on the breeding value based model, including the expected
values and the variances of all random effects. Insert all information from
the dataset into the model, setup the mixed model equations and get the
predicted genomic breeding values.

Verwenden Sie ein Zuchtwert-basiertes Model fiir die Schdtzung von
genomischen Zuchtwerten basierend auf den oben gegebenen genomischen
Daten.  FEin gemeinsames Mittel p soll als einziger fizer Effekt im
Modell beriicksichtigt werden. Die genomische Verwandtschaftsmatriz
G basierend auf den SNP-Markerinformation ist unten gegeben. Das
Verhiltnis (\) zwishcen der Restvarianz o2 und der genetischen Varianz
03 betragt A\ = 4. Spezifizieren Sie alle Modellkomponenten, inklusive
der Erwartungswerte und der Varianzen der zufdlligen Modelleffekte.
Setzen Sie die Information aus dem Datensatz ins Modell ein, konstru-
ieren Sie die Mischmodellgleichungen und berechnen Sie die geschdtzten
genomischen Zuchtwerte.

26
The genomic relationship matrix G is given by

Die genomische Verwandtschaftsmatriz G ist gegeben als

024 —-0.263 0.104 -0.131 -0.024 0.104
-0.263 0.726 —-0.387 0.108 0.232 —0.387
0.104 —-0.387 0.743 —-0.267 —-0.878 0.714
—-0.131 0.108 —-0.267 0.24 0.347  —0.267
—0.024 0.232 —-0.878 0.347 1.229 —0.878
0.104 -0.387 0.714 —0.267 —-0.878 0.743

15



Solution:
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Problem 4 Prediction of Breeding Values

In pig breeding the trait intramuscular fat (IMF) is an important indicator of
meat quality. As a consequence of that IMF is used in the breeding program.
The heritability h? for IMF is 0.2 and the phenotypic variance is 1.2. The
following data set is given.

In der Schweinezucht ist das Merkmal intramuskuldrer Fettgehalt (IMF) eine
wichtiger Indikator fir die Fleischqualitdt. Deshalb wird dieses Merkmal im
Zuchtprogramm bearbeitet. Die Erblichkeit h? fiir IMF betrigt 0.2 und die
phdnotypische Varianz betragt 1.2. Der folgende Datensatz wird fir diese Auf-
gabe verwendet werden.

Animal Sire Dam Sex IMF

4 1 2 1 0.38
5 1 2 2 391
6 3 5 2 246
7 4 6 2 3.88
8 4 7 1 134

a) Predict the breeding values of the animals given in the above data set
using their own performance record and compute the accuracies of these
breeding values. You can take the average of the observations in the above
table as population mean u.

Schatzen Sie die Zuchtwerte der Tiere im Datensatz aufgrund ihrer Eigen-
leistung und berechnen Sie die Genauigkeiten der geschdtzten Zuchtwerte.
Sie konnen den Mittelwert der Beobachtungen als Populationsmittel p ver-
wenden.

12
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Solution:

18



b) The Swiss pig breeding association wants to improve the quality of the
prediction of breeding values. As a test, the want to investigate whether it
is worth to measure IMF 3 times instead of just once. For the 5 animals the
dataset then looks as shown below. Predict breeding values and compute
accuracies for all animals based on the 3 measurements. The repeatability
between the meaurements is 0.7.

Die Schweizer Schweinezuchtorganisation mdchte die Qualitdt der
geschitzten Zuchtwerte fiir IMF verbessern. Fiir einen Versuch wird das
Merkmal IMF 3 Mal statt nur einmal gemessen. Der neue Datensatz
mit den wiederholten Messungen ist nachfolgend aufgefiihrt. Schdtzen
Sie die Zuchtwerte und berechnen Sie die Genauigkeiten aufgrund der
wiederholten Messungen. Die Wiederholbarkeit der Messungen betrage

0.7.
12
Animal IMF1 IMF 2 IMF 3
4 0.38 0.24 0.41
5 3.91 3.77 3.94
6 2.46 2.32 2.49
7 3.88 3.74 3.91
8 1.34 1.20 1.37
Solution:

19



¢) Use a BLUP animal model to predict breeding values for all animals in
the complete pedigree. Specify all the model components, including the
expected values and the variances of the random model effects. Insert
the information from the dataset and the pedigree into the model. Setup
the mixed model equations and solve for the estimates of the fixed effects
and for the random effects. Use the ‘sex‘ of each animal as a fixed effect.
Compute the reliabilities of the predicted breeding values.

Verwenden Sie ein BLUP-Tiermodell fiir die Schdatzung der Zuchtwerte
aller Tiere im kompletten Pedigree. Spezifizieren Sie alle Modellkom-
ponenten, inklusive der Erwartungswerte und der Varianzen der zufdl-
ligen Effekte im Modell. Setzen Sie die Informationen aus dem Daten-
satz ins Modell ein. Konstruieren Sie die Mischmodellgleichungen fir
die Schitzung der fizen Effekte und der Zuchtwerte. Verwenden Sie das
Geschlecht der Tiere als fizen Effekt. Berechnen Sie das Bestimmtheits-
mass der geschdtzten Zuchtwerte.

28

Solution:
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Problem 5 Breeding Program

Intramuscular fat is not the only trait that is important for porc quality. The
pH-value of the meat one hour after slaughter is also important for meat qual-
ity. As a consequence of that, pig breeders also want to include that pH-value
(pH1) into their breeding program. The goal is to improve the breeding animals
simultaneously with respect to both traits IMF and pH1.

Intramuskuldrer Fettgehalt ist nicht das einzige entscheidende Merkmal fir die
Qualitat von Schweinefleisch. Der pH-Wert eine Stunde nach der Schlachtung
ist auch ein wichtiger Indikator fir die Qualitdt des Schweinefleischs. Somit
wollen die Schweinziichter auch diesen pH-Wert des Fleischs (pH1) als weiteres
Merkmal ins Zuchitziel aufnehmen. Das Ziel ist die Zuchittiere im Bezug auf
beide Merkmale (IMF und pHI1) gleichzeitig zu verbessern.

a) Give three methods how a population can be improved with respect to
several traits at the same time. Indicate for each method an advantage
and a disadvantage.

Nennen Sie drei Methoden, wie eine Zuchtpopulation nach mehreren Merk-
malen verbessert werden kann. Geben Sie fiir jede Methode einen Vor- und
einen Nachteil an.

9
Solution:
Nr Method Advantage Disadvantage
1
2
3

21



b) The pig breeding organisation has decided to use selection index theory
to construct an index I to approximate the aggregate genotype H. The
traits in H and I are the same and consist of IMF and pH1. The economic
values w for the two traits are 6.12 for IMF and 5.61 for pH1. Compute
the vector b of index weights that are used in the index I which contains
predicted breeding values of the two traits IMF and pHI1 using a BLUP
animal model.

Die Schweinezuchtorganisation hat sich entschieden einen Index I
aufzustellen um den Gesamtzuchtwert H zu schdtzen. Die Merkmale in
H und I sind gleich und bestehen aus IMF und pHI1. Die wirtschaftlichen
Gewichte w der beien Merkmale betragen 6.12 fir IMF und 5.61 fir
pHI1. Berechnen Sie den Vektor b der Indexgewichte, welche im Index
verwendet werden. Der Inder enthdlt die mit einem BLUP-Tiermodell
geschdtzten Zuchtwerte der Merkmale IMF und pHI.

Solution:

22
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